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1.  Which was the first princely state annexed by the English East India company as per the
doctrine of lapse in 1848?

(A) Hyderabad (B) Travancore
(C) Satara (D) Mysore

2. Who introduced the portfolio system in 1861, as part of the implementation of the Indian
Council’s Act?

(A) Lord Wellesley (B) Lord Minto
(C) Lord Cornwallis (D) Lord canning

3.  Which among the following is not nominated by the Lord Canning to the Council in
18627

(A) Raja of Benares (B) Maharaja of Patiala
(C) Maharaja of Mysore (D) Sir Dinkar Rao

4.  Which act established a separate electorate for Hindus and Muslims?
(A) Government of India Act 1919 (B) Indian Councils Act 1892
(C) Indian Independence Act 1947 (D) Minto Morley Reforms Act 1909

5.  Who established the rule of diarchy system?
(A) Lord Action (B) Montesquieu Chelmsford
(C) Lord Cornwallis (D) Lord Mountbatten

6.  Who said that “Swarajya is my birth right I shall acquire it”?
(A) Bala Gangadhara Tilak (B) Bhagat Singh
(C) V.D. Savarkar (D) Bipin Chandra Pal

7. In which house did the Indian Independence Bill be introduced?
(A) House of Commons (B) House of Lords
(C) British Council (D) Federal Legislature
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8.  Which of the following statements is true?

(A) Ambedkar believed that political democracy is meaningless without economic

democracy

(B) Swami Vivekananda supported a liberal economic system based on capitalism

and materialism.
(C) Subash Chandra Bose established Republican Party of India in 1942

(D) Nehru promoted the idea of two nation theory based on religion

9.  Which among the following persons is not a member of the Cabinet Mission Plan?
(A) Lord Pethick Lawrance
(B) Lord William Bentick
(C) Sir Stafford Cripps

(D) A.V. Alexander

10. Who was the governor General of India when the Jallianwala Bagh massacre took place?
(A) Lord Reading
(B) Lord Hardinge II
(C) Lord Chelmsford

(D) Lord Montagu

11. In which year did Gandhi form the All India Anti Untouchability League?

(A) 1925
(B) 1930
(C) 1932
(D) 1935
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12. What is the motto of the Indian National Army?
(A) Unity Faith, Sacrifice
(B) Do or Die
(C) Unity, Faith, Acquire

(D) The whole Universe is one Family

13. Who formed the organisation named Servants of Indian Society?
(A) Gopal Krishna Gokhale
(B) Bala Gangadhara Tilak
(C) Bipin Chandra Pal

(D) V.D. Savarkar

14. Who was the first temporary Chairman of the Constituent Assembly?
(A) Dr. B.R. Ambedkar
(B) Dr. Rajendra Prasad
(C) Sachidananda Sinha

(D) Panampilli Govinda Menon

15. Which feature is not adopted in the Indian Constitution from the Government of India

Act 1935?
(A) Parliamentary system
(B) Dual form of government
(C) Plural executive

(D) Dual Executive
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16.

17.

18.

19.

20.

In last financial year 2023-24, the biggest trading partner of India is :

(A) USA (B) China
(C) Canada (D) Brazil

Match List I and II as per Census 2011 :

List I List 1T
(1) West Bengal (1) Highest Density of population
(1) Bihar (2) Second highest share of SC population
(i11) Maharashtra (3) Highest Infant Mortality Rate (IMR)
(iv) Chhattisgarh (4)  Second most populous state

Which of the following match is correct?
A)  ®-(1), (1)-(2), (11)-(3), (v)-(4)
B)  ®-(2), (1)-(1), (11)-(4), (v)-(3)
©) ®-4), ()-(1), (11)-(3), (v)-(2)
D) ®-(1), ()-(3), (i1)-(4), (v)-(2)

Importance of public sector investment was heavily curtailed first time under which
Five Year Plan?

(A) Fourth (B) Sixth
(C) Ninth D) Twelfth

Which of the following is not true for MRTP Act, 1969?

(A) The Act aimed to control the activities that can potentially endanger
competition and fair trade

(B) The Act targeted to control the monopoly power of the large business houses
(C) The Act encompassed all states excluding only Assam
(D) The Act was abolished after economic liberalization of India

Consider the following propositions in connection with Dadabhai Naoraji’s Drain
Theory :

(1) India imported heavy industrial machinery and food from England at a very high
price
(11) India paid home charges to England for developing India

(i11)) India exported the much-needed raw materials for British Industrial revolution at
a very cheap rate

(iv) British administrators remitted most of their savings back to England, which could
not be utilized in India.

Which of the followings is correct?
(A) All four (B) (@), (1i1) and (iv)
(C) (1) and (iv) (D) (1), (ii1) and (iv)
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21. Which of the following issues was not considered as the prime objectives of Niti Ayog?

(A) To evolve a shared vision of national development priorities, sectors and

strategies with the active involvement of States.

(B) To foster cooperative federalism through structured support initiatives and
mechanisms with the States on a continuous basis, recognizing that strong

State make a strong nation.
(C) To propose the investment plans of government over the Five Year Plans

(D) To ensure, on areas that are specifically referred to it, that the interests of

national security are incorporated in economic strategy and policy

22. Which of the following statements is not true for the Bengal famine 1949?
(A) Major decline in food grain production in Bengal and adjacent areas
(B) Significant increase in prices of food
(C) Small rise in agricultural wage compared to inflation rates

(D) Entitlement failure, indicating shrinking of collection of alternative bundles

of goods and services from are available for a person and he is free to choose.

23. The Green Revolution in India :

(1) Improved the yield of wheat appreciably, though that of rice stagnated
(1) Over-used pesticides
(1) HYV seeds optimised use of ground water

(iv) Increased inequality within agricultural sector
Which of the following is true?

(A) All are true

B) (@), (1), (a11) are true; (iv) false

(C) () and (11) are true; (ii1) and (iv) are false

D) (@), (A1), (v) are true; (i11) false
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24. Consider the following Centrally Sponsored Schemes in India :
(1) Total Sanitation Campaign
(1) Beti Bachao Beti Padao
(111) National Rural Health Mission
(iv) Ayushman Bharat

The chronological sequence of these schemes is given by

A) @, @), (), (v) B) (1), @), (1), (v)
© @, (i), (v), @) D) @), @), v), (1)

25. The main reasons behind partial failure of land reform in Indian were :
(1) Lack of reliable records of land ownership
(1) Lack of political will in many states
(111) Lack of financial support to carry out the monitoring and evaluation

(iv) Lack of blue print which meant bureaucrats were not sure what to do and how
to do

Which of these are not true?
@ @ B) (iv)
(C) Both (1) and @(@v) (D) Both (i1) and (iv)

26. Which of the following statements are wrong for Deindustrialization in India under the
British rule?

(A) The intensity of deindustrialization was critical as reflected by the figure that
India produced about 25 percent of world industrial output in 1750, which fell
to only 2 percent by 1900

(B) Initially this was triggered by falling down of the Mughal Empire creating
supply side shocks.

(C) India’s trade surplus in textile was not prudently utilized by the mill owners

(D) The British administration did not extend the support that artisans used to
receive from the erstwhile royal courts across Indian subcontinent

27. Indian Rupee is convertible at :

(A) Only current account

(B) Only capital account

(C) Both current and capital account
(D) Neither current, nor capital account
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28. According to Periodic Labour Force Survey by MoSPI, Government of India, Female
Labour Force Participation Rate (FLFPR) followed the following trend :

(A)
(B)

(©)

D)

It fell in 2012—22 compared to 2018-18 in both rural and urban sectors

It increased in 2012—-22 compared to 2018-18 in rural sector, but fell in urban
sector
It increased in 2012—22 compared to 2018-18 in urban sector, but fell in rural
sector

It increased in 2012—22 compared to 2018-18 in both rural and urban sectors

29. Consider the Lists I and II and choose the right matching option :

List I List IT
(1) Arvind Panagariya (1) Niti Ayog
(1) M.S. Swaminathan (2) Finance Commission
(111) Verghese Kurien (3)  Green Revolution
(iv) B.V.R. Subramanyam (4)  White Revolution

The right match is :

(A)
(B)

(©
D)

®)-(1), a1)-(2), (D-(3), (v)-(4)
®)-(4), a1)-@3), (1)-(1), (v)-(2)
®)-(1), a1)-@3), (1)-(2), (v)-(4)
1)-(2), a1)-(3), (i)-(4), (v)-(1)

30. The burden of diseases in deaths in India currently follows which of the following

patters?

(A)

(B)

(©
D)

The burden of communicable diseases is higher than that of the

non-communicable diseases

The burden of communicable diseases i1s lower than that of the

non-communicable diseases
The burden of accidents and suicides is the highest

The burden of communicable diseases i1s rising and that of the

non-communicable diseases is falling in recent past

-14-
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31.

32.

33.

Consider the following statements with regard to Lakhpati Didi Scheme :
(1) The scheme is primarily concerned with strengthening the position of women in

Cooperatives

(11) Lakhpati Margadarshika is the guiding document that details various aspects of

the scheme

(i11) It involves identification of Potential Lakhpati Didis and proving them exposure to

various Livelihood Models

Which of the above statement(s) are incorrect?
(A) (@) only (B) (@) and (i1) only
(C) (i1) and (ii1) only D) @), (1) and (i11)

Which of the following statement is correct as per the recently released All India Rural
Financial Inclusion Survey (NAFIS) for 2021-22 by NABARD?

(A) There was a rise in financial savings and the major contributors were the

non-agricultural households

(B) Kisan Credit Card emerged as a key tool for promoting financial inclusion in

rural agriculture sector

(C) A decline in financial literacy was observed in both rural and semi-urban

areas

(D) An increasing trend was observed in average monthly income of rural
households while there was a decreasing trend in average monthly

expenditure

Consider the following description :

“This scheme attempts to enhance livelihood security of rural household by providing
guaranteed wage employment in a financial year for at least 100 days. It also aims to

strengthen Panchayat Raj Institutions through a bottom up approach.”
The above description fits for which of the following scheme?

(A) National Social Assistance Programme (NSAP)

(B) Sansad Adarsh Gram Yojana (SAGY)

(C) MGNREGA

(D) National Rural Livelihood Mission
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34.

35.

36.

317.

38.

Consider the following statements about Mission Antyodaya :

1 It aims to ensure effective use of resources through convergence of various
Government Schemes with Gram Panchayats

(1) It strives to realise the vision of Poverty-free India by 2022-23

(111) It also mandates conducting an annual survey on measurable outcomes at Gram
Panchayat level to monitor the progress in the development process across rural
areas.

Which of the above statement(s) are correct?
(A) (1) and (i1) only (B) (1) and (iii) only
(C) (ii1) only D) (1), (a1) and (ii1)

Which of the following interventions are part of Pradhan Mantri Janjati Adivasi Nyaya
Maha Abhiyan (PM-JANMAN)?

(1) PRI Strengthening

(1) Road infrastructure

(111) Construction of hostels

(iv) Installation of Mobile Towers

(v)  Focus on spread of financial literacy

(vi) Construction of Anganwadi Centres
@)  ®, @), @), (v) B @), ), @), (v)
€) (), (i), Gv), (vi) D) @, @), (1), (v)

The People’s Campaign for Decentralised Planning was launched in 1996 in the Indian
States of :

(A) Tamil Nadu (B) Bihar
(C) Karnataka (D) Kerala

Who regarded the Indian Poverty Line as a Destitution Line?
(A) Amartya Sen (B) Suresh Tendulkar

(C) Jean Dreze (D) Rangarajan

Which of the following is not an indicator to measure Multidimensional Poverty Index
MPI)?

(A) Cooking Fuel (B) Sanitation
(C) Electricity (D) Employment status
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35.

36.

317.

38.
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QDB WoZResod 20D 8 YN BePBNYRY, S0Mesd :
Q) M TowedhETFeod AT TIzeEd aleedINT 3T DV JoBI,INY
BO@eT0 WHYBADRY, wUIBBIBRYL AW HOWNG.

(i) @b 2022-23 3 STt WBISI BB 279033 Ty DR, TeFTR VT B DDIST.

(i) Mycer  BBeINweR03 WY  BZoHAHOS DRI,  HedesedE  weBdw
My Soeodhd DBBY oYdwBmed FOT0TNY DOD  DAFE  JehegabI)
SBDIBD, D SR IDIT.

DeOIINTO cires Be9S/BedBrw IOWTNS?

@A) () D3 (i) 33, B) () D (iii) Fre3,
©) (iii) 393, D) (), (i) DB (i)

8 BYNT obodd DFRZAD BPoId Dod) 2Iwed B8DTD Jyad DFe  BPART
(PM-JANMAN) 23orizena?
() PRI 203838
(i) O Iwew JBabe
(i) TIIJONY Ayeeer
(iv) el BBoTY Tas
(v) B8 093330 BBRDIBD Deed Beod),eSODID
(vi) eonIme8 Beord iy ASyeeed
A4) @), @), @v), (v) B) @), @), @), (v)
(€) (1), (itd), (iv), (vi) D) @, ), (i), (vi)
ABeolyed)3 03eeS3MeN BT WPIISSY, 1996 3O 2yeT3eod T NPY &80T
A) BLRWJD (B) 3
(C) Borws (D) BedY

23933e0d) WE3S deafoi)dg( ANEE3 Fedd Do) Ao aéﬁe&%mad?
(A) @&323? e (B) =Tezf Sodee),0°
(C) Bexr deF (D) Qonoeas®
83 BYNIYFY Ao B BT WEIS maséosa@ (MPI) 9703 a-ifaza'sdom?

A) ot 20383 B 3@3?06
€) D)  odaen 38

-19-



156/2024-K

39. Which of these do not constitute the primary functions of NABARD?

(A) To serve as an apex financing agency for the institutions providing
investment and production credit for promoting development activities in

rural and semi — urban areas

(B) Incorporating measures towards institution building for improving absorptive
capacity of the credit delivery system including monitoring, formulation of

rehabilitation schemes and training of personnel

(C) To coordinate the rural financing activities of all institutions engaged in
developmental work at the field level and liaison with the Government of
India, the state governments, the Reserve Bank and other national level

Institutions concerned with policy formulation

(D) Undertaking monitoring and evaluation of projects refinanced by it

40. Consider the following :

(1) Regional Rural Banks (1) Work on “no profit, no loss” basis

(11) Cooperative Banks (2) Can issue debit cards but not credit cards
(i11) Commercial Banks (3) Created for profit motive

(iv) Payment Banks (4) Set up by a Public Sector Bank

Select the correct option from the following :
A ©-(4), ()-1), (i)-(3), (v)-(2)
B)  ©-2), @)-4), (11)-3), av)-(1)
©  ®©-©2), @-Q), (11)-3), (v)-(4)
D) ®-Q), ()-(3), (11)-(4), (v)-(2)

41. Big- Push Theory has been proposed by?
(A) Amartya Sen (B) Gunnar Myrdal

(C) Rosenstein-Rodan (D) P.C. Mahalanobis
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QINPO ATIHWD FITFES BB aoixrieéd& zoeéﬁroo&om?

(A)

(B)

(©)

D)

Myceed DA ©T-INT BTeIMYY D)D) VDTN, evIedJw TRRS D)
BV B0 DoUBRY, WBNWS FoFROr LV S TEazID D3 AN FeeS FODJYTD

ed23908, YISETS 3ReRINTSY ARIDIHD DB A2y odry Scefed JedToZ
3R J30me JBJD HeDZPNT TIDFESTY, DFOTN ToPah Aeoread,

@&ﬁ%}ﬁg PIBDID
Bes, dj&id@ eﬂeﬁ.’)da@p CrlONIAL)

FRBNDS oy JOIJNY  Mycheed  BETID

aa‘wda?,érwd& Vozre3BD DR Y03 TFfT, Tatd RBFTNR), O masos‘ DR

)

ed ATRBET BowoRAT BT Tad ead &3 T Jogrwle ot Fowse TR

30 SWLE DIBEEIWD BT AdReRINY e 30E D) WOVBVBIBIY,

3, PRI

81 BYNIYNYSY BOMed

1)  @9T3ed3 nMocde masoa)mb (1)
(i) SE0 2 0BNW (2)
(1i1)  DedR; W OBDNR 3)
(iv) @oB3 w305 (4)

BYNSYiPos SOed esad,abD, 80 :

(A)
(B)
(©)
D)

®)-(4), G1)-(1), (ii)-(3), (v)-(2)
1)-(2), (1)-(4), (11)-(3), (v)-(1)
®)-(2), a)-(1), (1)-(3), (v)-(4)
®)-(1), G1)-@3), (i)-(4), (v)-(2)

Af-2zF HAHOALRY, ByTIAITID :

(A)
(©

@&35? {nd

d@eﬁa‘@ éa‘—draemac
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42.

43.

44.

45.

Which items are not covered under Public Distribution System in India?
(A) Rice (B) Wheat

(C) Kerosene (D) Bajra

Consider the following statements about Micro Finance in India :

(1) Microfinance is a small scale financial intermediation inclusive of savings, credit,

insurance, business services and technical support provided to the needy borrower.

(1) The trust of the micro finance initiative is to channelize production and
consumption credit in multiple doses based on the absorption capacity of the

prospective borrower.

(1) It has evolved from ‘charity-based’ to ‘thrift-based” and finally to ‘trust and credit

worthiness model’.

(iv) India adopted the concept of micro finance from Bangladesh.

Which of these statement(s) is/are correct?
(A) (@), (i1) and (iii) only (B) (i), (iii) and (iv) only
(C) (@), (ii1) and (iv) only D) (@), (1), (1ii) and (iv)

Which of the following committees has recommended for the introduction of three tier

structure of PRI for the first time?

(A) Ashok Mehta Committee (B) Balwant Rai Mehta Committee
(C) Gadgil Committee (D) L.M. Singvi Committee

Consider the following statements about Digi Saksham :
(1) Itis ajoint initiative by Labour Ministry and Microsoft India
(1) It aims to enhance the employability of youth
(111) The scheme particularly focuses on rural areas
(A) (1) and (i1) only B) (@) only
(C) (i1) and (iii) only (D) @), (1) and (ii1)
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2POBBO TBFRIE IBTH BB LBHY WIS S wYreRIOL?

A) o3 B) reed

O Redag D) ey

0BBY H;BRe FyTet, OB B BYNT BeRBNYY, BOMed -

) D0oBDYY GLEToAD, TV, ID, DYHT ISV DF) VNSIDS  FIOMPTAT
WBNRBUIT F0088 wI0WVBRY, WHTROBDE 2ot Jey @B BETID DT B3FdoNG.

(i) Q0egd ToMoTR HedIPR),I mdx;jafd 8703 et PLTITIT DA wFBab modd&
WD) By 3T ;T STRDJTD &BR)L BTt BVBZTT S0DBaIeNT.

(1) QA Dox-68p03 Bod 'cn)ddéob—esmbé' DD ©odDTN '[odB DA T
odneriBod Srend'n IBTIrieoBs.

(iv) 29033 woorerde3Rord &;ERe ;P BOZL) IR WYSBIZRRT.

e BePBRYO Aoy IO ?
A) @), (i) D) (iii) Ire3, B) (i), (i) DB (iv) 393,
(©) @), (iil) D) (iv) S, D) @, (D), (i) DI (iv)

8 BYAS abred Ib3ay s wedrt PRI ob Swd 3033 SuobR) @0u8dide depesh
30837

A) oZpeE DB IS (B) 0,0z Doddf DHFdy T3
(C) maBew® I3 (D) L.M. dof), I3

82 IZa* wrf 85 YN BePBRYY, S0Ned :
(1) R SWES TeIew0d D) 380)eTT, ROBAIT 20E3 HVTT DN,
(i) 2D DB YVTREMIBFITBY, B HODRY, FBPoDT.

(i) odeeRF JTemaN Myes B,BednY Heed Se0d)esdDTT.
@) ) 3 (i) &3, B) () &3,
(©) i) S (i) S0, D) @), () D2 (i)
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46.

47.

48.

Which of the following statement is/are correct about Gramasabha?
(1) Provide a platform for citizen participation in local governance
(1) Positively influence the Gram Panchayat’s service delivery

(i11) Participation is uneven among different Indian states, men and women, and social

groups
(A) Only (11) and (i11) (B) Only (1) and (i1)
(C) All of the above (1), (i1) and (iii) (D) Only (1) and (iii)

Successfully developing a democratic and non-violent India first involves re- establishing
the old panchayat system, where the exercise of power “must begin at the bottom [and
where] each village will be a republic” that will have full powers as part of a united

federal India. This is envisioned by :
(A) Jawaharlal Nehru (B) Mahatma Gandhi
(C) Dr. B.R. Ambedkar (D) Subhas Chandra Bose

Match the following and choose the correct option :

Column A Column B
(Terms) (Definitions/Descriptions)
(1) Gram Swaraj (1) A series of constitutional reforms intended to

empower Panchayats

(1) 73*Y Amendment 2) The process of transferring power and authority

from central or state governments to local

governments
(111) Decentralisation 3) Village self-rule
(iv) Panchayati Raj 4) The third tier of government at the sub-state
level
Q) ®-3), ()-(1), (11)-(2), (v)-(4) B)  ®-(3), @-(4), (i-(2), @v)-(1)
©)  ©-2), ()-(1), (111)-(4), (v)-(3) D) ®©-3), ()-(2), (111)-(1), (v)-(4)
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MRRI0D 2t & BYNS aires BedBady BONT?

@) 3o sBEIBTS) TorOB3 RnBRDAIZ SedBRY WEADIT.

() M BN FeSob ABTHIRY, Foo3,Be9N BLIWST.

(i) AP O3ead TBAW, JVBD DI DEVDD DB BB rDOFNYY
NSHDABI BRIBENGS.
@) (i) DD (iii) I3 B) () DR (ii) 93,
(©) e ovp (1), (i), (iii)) D) () DR (iii) I3

BRIVTB,B VD) &0V, B LTBBY, hB),07eN PB)RBBDHIYD Sedew BFaD BogeodhsF
SBFDR, JPIOT TYSDJYTRY, wHROBDIT. @O WRZTT DYDY  "BWeridod
DCoRimerided [P wd] B3 TR NETR@HIYD" ST FETL 033
orieeN Fogeesr WRBITTY, BRODDLBT. VB, *S00T 3O, JeoNT :

(A) DoedTUF JHD B) D3, Meod

(O) woe. 0.830°. 023eqd O (D) Doz’ 2303, Wdeex®

BYNSYNPY, TR0oDD D) IOWTT 30k, 0 Y B8O :

ZoOF A So0* B
(QAHINRR) (639,809, FM%/ ASTHMW)
D M Jover (1)  oVEedB D908 JTed BoWeahSFier
[Slatorle]
(i) 73 Je SQ=d (2) 3eow), DB Oy JFFONPT  JPead

VB 0NV 90ZT IBeod)esTes &3,3,0d
(iii) IBeoR)e8Te (B) My IJ-8BY3
(iv) Do voeF (4) emé—oae:,é DT TF0T SweTJe ToS

A ©-6), @-(), (11)-(2), (v)-(4) B)  ©-3), (W)-(4), (11)-(2), (v)-(1)
©)  ®-@), ()-1), (i)-(4), (v)-3) D) ®-@), ()-(2), (i1)-(1), (v)-(4)
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49. What prompted the British administration to consider administrative decentralization in

pre-independent India?
(A) Economic growth
(B) Political stability
(C) Severe financial pressures after the 1857 mutiny

(D) Social unrest

50. The primary purpose of Article 243-T is to :
(A) Ensure representation of all sections of society in municipalities
(B) Promote economic development in urban areas
(C) Establish a system of urban governance

(D) Centralize urban administration

51. What is the main function of the Kerala Institute of Local Administration?
(A) Document best practices on local governance for dissemination
(B) Implementing poverty alleviation programs
(C) Promoting women’s empowerment

(D) Educational development

52. Which of the following options accurately represents the number of local self-

governments in Kerala?

(A) 941 Grama Panchayats; 150 Block Panchayats; 14 District Panchayats;

84 Municipalities; 5 Municipal Corporations

(B) 941 Grama Panchayats; 152 Block Panchayats; 14 District Panchayats;

86 Municipalities; 5 Municipal Corporations

(C) 931 Grama Panchayats; 150 Block Panchayats; 12 District Panchayats;

87 Municipalities; 6 Municipal Corporations

(D) 941 Grama Panchayats; 152 Block Panchayats; 14 District Panchayats;

87 Municipalities; 6 Municipal Corporations
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J303) ZpJE 03TY BBYTB, B IBe0DLBTHT, BONeITew QLIS SBLSIT, oY

3)eBedR3?
(A)
(B)

(©)
D)

3RS B3I

To>3e0dd c‘gdé
1857 3 Bortadh 03T 3ex) e3QEB WwIBBML
TORDB 9903

esedezer 243-T 0 TBDS eLTFed8[0TT

(A)

(B)
(©
D)

3e0Y ARFQ LR 6T LpeBe’ BB,I- LTS Tway F0DE WrFTH?

(A)
(B)

©)
D)

QYTTPINHO FaordB 2wy ey 59 BIFBD, HWIBBIZARYID

RS BBeBrve) BhF3 DBPDR) USSRV
RS BE93T BBTHRY, TSV
RS BBYBTRY SeodeBORBD

@) V065, N FPeod BBITTW GV WIYRNYRY, TODIHTD

VBB VWV FoaLEZTNTRY BDTISTHR PDIYD
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B ,3e38 93D

[~]

8 YN o), NP YD 3e3¥a FPeab I,-IzerdrY Tosfab Qadzmen S_)&\")@K’z)éd?

(A)

(B)

(©

D)

941 Md HoWeahSTIW ; 150 2z BOIIODS W) ;

84 RTITINL ; 5 DTIRNT DeOBML

941 mMyed ToFDS W ; 152 2398° @B0IaSTIW ;

86 RTITINW ; 5 DTIRNT @eOBML

931 My HowWeahSTIW ; 150 2z° BOIIODSNW) ;

87 QTITINL ; 6 DTIRNT DoOBMLD

941 My ToWLTTIVW ; 152 2093° BoIALSN ;

87 R)TIINLW ; 6 DTIRNT DB
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53.

54.

55.

The

Twelfth Schedule which deals with the responsibilities of Municipalities

1s related to :

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Concurrent List

(D) State List

Match the following and choose the correct option :

()

(i1)

(111)

(iv)

Column A Column B
(Commission/ Committee) (Recommendation)

Balwantrai Mehta Commission (D) The Block Development Office (BDO)
should assume broad powers for
planning, implementing and monitoring
rural development programmes

Asoka Mehta Committee 2) Implement the Panchayat structure at
district and block (Samithi) levels

G.V.K. Rao Committee 3) Limited revenue raising powers for
Panchayats and the establishment of
State Panchayati Raj Finance
Corporations

K. Santhanam Committee 4) The district serves as the administrative
unit in the PRI structure

A ©-B), ()-(), (11)-(2), (v)-(4)
B)  ©-2), (@)-4), (11)-(1), @v)-3)
©  ®©-©2), @-(Q1), (11)-3), @v)-(4)
D) ®-3), ()-(4), (11)-(2), (v)-(1)

Which of the following statement is/are correct about decentralized government in India?

)

(i1)
(iii)
(iv)

Mandatory elections every five years

Reservation of seats for women and disadvantaged groups

Centralized planning and implementation of development projects
Provision of Grama Sabha for citizen participation

(A) Only (i1) and (ii1) (B) Only (1) and (11)

(C) Only (1), (11) and (ii1) (D) Only (1), (1) and (iv)
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B)  1)-©2), (11)-(4), (1)-(1), (v)-(3)
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(111)
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56. Which type of decentralization involves the transfer of policy and legislative powers to

local councils?
(A) Political decentralisation (B) Administrative decentralisation

(C) Fiscal decentralisation (D) Geographical decentralisation

57. During the Gupta period, who was responsible for governing towns?
(A) Elected representatives (B) Centrally appointed ‘Purpal’

(C) Local council (D) Hereditary rulers

58. Which of the following is NOT a provision of the 74t Amendment Act?
(A) Constitution of State Finance Commission
(B) Establishment of district planning Committees
(C) Creation of metropolitan planning Committees

(D) Establishment of a national urban renewal mission

59. In 1962, one of the states passed an Act giving provisions for three tiers of Panchayati

Raj at village (gram) , block (janpad) and district (zilla) levels. Which one was that?
(A) Andra Pradesh (B) Madhya Pradesh
(C) Uttar Pradesh (D) Kerala

60. Which of the following statement is/are correct about decentralization reforms in India?
(i)  To increase centralized control
(i1) To promote economic growth
(i11) To achieve effective and equitable delivery of services and inclusive development
(iv) To reduce government spending
(A) Only (1) is correct (B) Only (11) and (iv) are correct

(C) Only (111) is correct (D) Only (11) and (ii1) are correct
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61. Consider the following statements :
(1) Under the Tenth Five Year Plan, the decentralization programme in Kerala was

restructured and renamed as “Kerala Development Plan”

(11) The amendment of Kerala Panchayat Raj Act in 1992 provided the statutory
framework for creating functional, financial and administrative autonomy at the

level of the third stratum of government

(111) In the Eleventh Five Year Plan period the entire process of decentralization was

revamped by giving stress to the concept of ‘People’s Planning’.

Which of the above statement is/are TRUE?
(A) Only (i) and (ii) (B) Only (i1) and (iii)
(C) Only (1) and (ii1) (D) All the above

62. The PURA Model as envisaged by Dr. A.P.J. Abdul Kalam, former President of India,

stands for :

(A) Aligning urban development in line with the prescriptions of neo-liberal

policies
(B) Bridging the Rural-Urban divide in India
(C) Ensuring division of power in favour of states in India

(D) Ensuring faster and efficient urbanization in India

63. The new Kerala coinage of ‘Rurban’ refers to :

(A) The sharp distinction between rural and urban areas in Kerala in respect of

the impact of decentralization

(B) The less sharp distinction between rural and urban areas in Kerala than in

other parts of the country

(C) Migration of skilled workers from rural areas to urban areas in Kerala in

search of better job fortunes

(D) The sharp distinction between rural and urban areas in Kerala in respect of

the delivery of public services
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(A)  IBe0d)es806T BRIeSE, BowoRABOB BeTHA Mycess DR) JNT BTeBNY IS
éegmd BTYS
(B) ©e3d @30 orin®Nod 3e3YRA) My,cess DR INT BTeINY IS 38D ez
T )
(C) v VBRENTE WBDBITY Mychess FBeBPon 3eB¥a IS BBedRet HOS
BoDEBT BV

D) TeBFBI8 FeSrY ABTBr BowoBIBoZ BeBYE Myden B IS FTednY
SBDIR Begmos B33
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64. Which of the following is/are NOT included in the basic principles of decentralized
planning as per the report of the Committee on Decentralization?

(1) Autonomy

(1) Subsidiarity
(111) Self-Sufficiency
(iv) Accountability

(v) Transparency
(A) Only 1), (11) and (v) (B) Only (1), 11) and (v)
(C) Only (1), v) and (v) (D) Only (), (i11) and (v)

65. Of the following which is/are the three main components of find given by the government

to local bodies in Kerala?

(1) General Sector Plan (GSP)

(1) Interest Subvention Fund (ISF)

(i11) Special Component Plan for Scheduled Castes (SCP for SCs)

(iv) Climate Change Fund (CCF)

(v)  Tribal Sub-Plan Fund (T'SP)
(A) Only (1), (1) and (v) (B) Only (1), (iv) and (v)
(C) Only (1), (111) and (v) (D) Only (i11), (iv) and (v)

66. Consider the following pairs :

Events/Committee Year
(1) District Council Bill : 1996
(1) ‘Ulloor Model’ : 1958
(111) Sen Committee : 1990

Which of the above pairs are correctly matched?
(A) Only (1) and (i11) (B) Only (i1) and (ii1)
(C) All the above (D) None of these
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DBeoyedBn BV BB BFT B ZYASINYSD e IBeodyed)3 aleensad Swow)
33,190 wyrteode?

@
(i)
(111)
(v)
)

59,033

00e33

T,V

TRTBMOS

TI0TBEBS (B39 THT)
A4) @, (1) DI (iv) S0, B) @), (1) DB (v) 359,
©) (), (iv) D) (v) D) @, (i) D) (v) B39,

8 3YNIYYY 3ed¥T FReodh 0PNt 500D BT B Bway WoBMW SR ?

@
(i)
(111)
(v)
)

Ty Swad odeess (GSP)

28 Jpaad Y (ISF)

B03F 3RV JFeR 33 adeewss (SCP for SCs)

B wRens A (CCF)

BBEY, VT 03eeRS A (TSP)

A @), ) D3 (v) 33, B) @), (v) BB (V) &I
©) @), (i) D) (v) 9T, D) (b)), (iv) DB (v) W,

BYNS 20BNV B0Ned

@)
(11)
(iii)

FBIRRD/BLS 3IRE
B9 T F D : 1996
LSToleiapiatel ;1958
TR VDS o 1990

SeOIYNPY odred eedriwd JIOayeN BeoweeBodrorhSas?

@A) () DR (iii) e, B) (i) ) (iii) I3,
(©) e oLIP D) WJrVO aremce e
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67.

68.

69.

Consider the following statements about the District Planning Committee (DPC) :

(1) Itis headed by the District Collector

(11) MPs and MLAs are its permanent invitees

(111) It consists of 15 members, and its Member Secretary is elected by the members

(iv) This committee consolidates plans prepared by Panchayats and Municipalities

Which of the following statement is/are TRUE?
(A) Only 1) and (i1) (B) Only (11), (111) and (iv)
(C) Only @), (i1) and @v) (D) Only (1) and (iv)

The total cropped area in Kerala as a percentage to total geographical area :
(A) Increased to 77.72 percent in 1990-91 from 74.24 percent in 1980-81
(B) Decreased to 60.84 percent in 2005-06 from 79.56 percent in 2000-2001
(C) Increased to 70.84 percent in 2005-2006 from 62.76 percent in 2000-2001

(D) Declined to 35.5 percent in 2015-16 from 68.25 percent in 2010-2011

Consider the following statements about the Ayyankali Urban Employment Guarantee

Scheme :

(1) It guarantees a minimum of 100 days of employment to all people living in urban

areas

(11) It guarantees a minimum of 100 days of employment to urban unskilled and

matured individuals who are willing to do physical labour

(1) It guarantees a minimum of 100 days of employment to both skilled and unskilled

people living in all urban households

(iv) It undertakes all jobs that are usually done under the MGNREGS

Which of the above statements is/are TRUE?
(A) Only @11) and (iv) (B) Only (11) and (111)
(C) Only (1), (11), and (111) (D) Only (111) and (iv)
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Ber aleeasm I3 (DPC) 203 & 3YAR Bed3nvy SONe -
() 9 BedEdNY Je3,3,80DIT.
()  RoIBD BB ToIBD VTS areabo 8T, IS,

(i) @ 15 ICRORY w¥riecdHIT D) 603 ICR, SHDFEBFORY, FEYD ok,
SR,

(iv) B I3k BoWAHSTIR D) YTTIMW FDBIT deeINYRY, BreBes01IT.
DT BePIMPY roHd BO0ANT?

@A) () DR (i) 33 B) (i), (iii) DR (iv) e,
© @) R (i) DR (iv) 93, D) (i) D) (iv) 33

e, WPriRedd Iedd, TedBomd) TRIetBe) SeTYTD ), 3 BB :
(A) 1980-81 3O 74.24 Fedrad0d 1990-91 B 77.72 Tedwod, HO=

(B) 2000-2001 B&) 79.56 Be3m00T 2005-06 B&) 60.84 Bedmo3, RN
(C) 2000-200130 62.76 BeswaBor 2005-06 B&) 70.84 Bedmo3, BT

(D) 2010-2011 B&) 68.25 Be3m00T 2015-16 B 35.5 Feadwod, HIBT

0030599 ST eV o8, ddeeaSodh OB B YA BePBMYRY BOMedd -
H 2D INS FBeBNTYY DodDS ey BIOT 85 100 BINY evdREna, WISOIBDHST.

() 2 O,%8 BB B OV IS FTeBT PBUCHI HI) BT FBNOr 393
100 BRI GVER,eRERY, 0BOBRRTT.

(i) 2D oy INoAY DINYY DdWS O3 DIF) F°BVCHI BI0rt 35 100 OINY
VERENSY, 7e30BBDIT.

(iv) 2 SoareR N MGNREGS 080 @retdha owy 3usnvR) 3,33,
edR TePBMPO AlroHD sfelenrialnii

@A) (i) DD (v) 303 (B) (i) @) (iii) a3,
©) @), (i), D) (iii) 93, D) (iii) D@ (iv) 93,
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70.

71.

72.

Consider the following statement :
(1) In 1961, Kerala Panchayat Raj Act was passed which led to the establishment of
local bodies in Kerala

(1) In 1981, District Councils were established in Kerala, leading to the administrative
decentralisation at the district level

(111) People’s Plan Campaign was started in Kerala two years after the passing of the
Kerala Panchayat Raj Act

Which of the above statement is/are NOT TRUE?
(A) Only 1) (B) Only @)
(C) Only @i11) (D) None of these

In planning process, there is a structure of Working Groups and Standing Committees.
Different pairs of working groups and standing committees are given below :

Working Groups Standing Committee
(1) Agriculture Development — Development
(i1)) Women Development — Development
(i11) Climate Change —  Welfare
(iv) Planning for the development
for SCs and STs —  Welfare

Which of the above pair is/are correctly matched?
(A) Only 1) and (ii1) (B) Only @11) and @iv)
(C) Only (1) and (iv) (D) Only (111) and (iv)

Consider the following statements with regard to the fund allocation of LSGs in Kerala
in the first decade of Decentralization :

(1) The percentage of Grants-in Aid to LSGs witnessed a remarkable jump from 20.23
percent of the State Plan Outlay in 1997-1998 to 22.64 percent in 2006-2007

(i1) The Percentage of Grants-in Aid to the LSGs declined to 18.23 percent of the State
Plan Outlay in 2006-2007 from a figure as high as 42.15 percent in 1997-1998

(i11) The Percentage of Grants-in Aid to the LSGs declined from 26.23 percent of the
State Plan Outlay in 1997-1998 to 22.54 percent in 2006-2007.

Which of the above statement is/are correct?
(A) Only ) (B) Only (1)
(C) Only @i11) (D) None of these
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8 BYNS BeRBabRY, BOME3

(1) 1961 OY Bed¥ oo Tz Bo0hodbR woNesdBUIdED, KW Je3YIO Ké@ﬁ(ﬁ)
oY TSI BT

(i) 1981 TY, BeTYBY Ry DoBINYRY TeAJTeD), QD By DBY SBII
ABe0t)eBTEIB, FoTEIToAVD.

(iii) 3edY DoeFeodhd® TeeF FodhTW 25900108 OV SREMY J0ST BeTPTY  deTe, T
)0 IRDY @9,BoDBU2AND.

O BeFENVY AT SO ?

@) 0 ang (B) (ii) 393
©) (i) &g D) @WRYO alreR@e B

odese B300odhY, FabFITE rHoPriwd D) Td FDAMY SBS AT, Foabe MHOYNW DI
T B3N AT BeeBNRYRY 39 QedwaNs -

Fo0DE MHoR) m@o‘b B3

i) B DB : A

(i) Ddvo DT)Y : SADA)

(ill) DD N WBUIEH : smésa

1iv) AR DR OFTFENY eaa;’)de)&qmﬁ odeed : émésa

eI o3 eedady JOWreN @eoDBAING?
@A) ) DB (i) S, (B) (1) DR (iv) Se3,
©C) @) DR (iv) 03, D) (iil) DD (iv) 93,

A3e0ReB0HT SpBL TBBRY B3e3YR) LSG Y A @03t KowoddTold 8 YNNI

BePBNTIY BOMed :

(i) LSG nert edad oDToRT FedBomed Zadetswy 1997-1998 3O Toy odeeRe SYT
20.23 Fe3ED0B 2006-2007 3O 22.64 Te3BF, NeHDeme D08 BNISIY, 508T.

(i) 1997-1998 T 42.15 Fe3BRIAZ LSG 1o SHoohPIB Fesmomed) D)
2006-2007 TQ ooz cdeee ST 18.23 Te3r3, 90T

(i) LSG nort Ix0hESa Feswomedd 1997-1998 SO Ty aleeds ST 26.23 83003
2006-2007 3O 22.54 23333, 2L0T.

R TeRBNPY adroHwd felonrialalg

@) @ a8, B (i) ans,
(C) (iii) a3, D) PRI drePHde e
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73.

74.

75.

Why is the Mahatma Gandhi National Rural Employment Guarantee Scheme
(MGNREGS) restricted to rural areas?

(A)
(B)
(©)
D)

To increase wages in rural areas

Because there is no scarcity of employment in urban areas
Because there is no poverty in urban areas

To reduce rural urban distress migration

Table 1. Women’s employment according to education levels in Kerala, 15 to 59 years :

Women’s employment Change between 2018
Education levels and 2021

2004 | 2011 | 2018 | 2021
Less than 10t class | 35.15 | 30.61 | 31.00 | 38.29 +7.29
Completed 10tk class | 24.34 | 25.34 | 23.49 | 29.23 +8.49
Completed Plus 2 27.55 | 24.60 | 20.74 | 29.44 +8.7
Graduate 45.42 | 39.64 | 36.44 | 41.68 +6.93
Total 33.93 | 29.95 | 28.51 | 35.48

Source, National Sample survey, 2004, 2011 and Periodic Labour Force Survey, 2018,

2021

Which of the following statements about the relationship between women’s education
and employment is true?

(A)
(B)

(©
D)

Women’s employment increases with education

Women with the lowest level of education have the highest level of
employment

Graduation improves women’s chances of being employed
Women’s employment has shown a rising trend over time

In Table 1 above, women with the lowest and highest levels of education have higher
levels of employment compared to those with middle levels of education throughout the
period shown. Between 2018 and 2021, employment increased for all groups but most for
those with middle levels of education. In view of the overall economic situation during
this period, what would best explain the increase?

(A)
(B)
(®)
D)

Job creation specifically for women with middle levels of education

Skill development programmes for women with middle levels of education
Severe economic distress at the household level

Economic boom leading to new job creation
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73. DTT, Mool Taded Mycess euEiaer a3 odeeRs (MGNREGS) mevess a@3esnent o

D3NS 7
A)  myden BBeBRYY SeB[BY, Bed DI
(B) 93033 SMd F5eBrivd surieens 2003 @
(C) 93083 IS BBV WEBZAIY
D)  Mydeen INS JosBH BuKabal 3B @rerw

Beexd 1 3e3¥BY dges ey &390 ehdy’ad3 evdeent, 15 0od 59 BRENLV:

DBY0DT sudaen 2018 D) 2021 3 IS
2e De3NR AIASPIM]

2004 | 2011 | 2018 | 2021
10 Se 3ondNo3 38 35.15 | 30.61 | 31.00 | 38.29 +7.29
10 Se 3313 Jpeerieodd | 24.34 | 25.34 | 23.49 | 29.23 +8.49
B 2 Fpeerieols 27.55 | 24.60 | 20.74 | 29.44 +8.7
BBIF3D 45.42 | 39.64 | 36.44 | 41.68 +6.93
W), 33.93 | 29.95 | 28.51 | 35.48

w0, O?c%)eoj) 030 Bbed 2004, 2011 DI) BT3B SoclES WO Jeg, 2018, 2021

74. DHYADT 3z D) Nt WIS Fooda wrf 8 YA odyed TeP3risd IOWreNS?
(4)  3geddeodrt Dey'ahd sudeena) B3I
(B) 58D D3V 35e TeoBDS e B3 DEIT BVERENSY, BoDWIT
(C) BBIFTD suBaen SIS DéY'ohT BBBFIBRYD, DO
D) Deve eVtRenD) 5900303TBY B S @) 30D, SeedIT

75. DedI Beegd 1 8O, SpedITHA oBPALY DR DT 3Fe BoBDITON BeedITT 38D
DB WIS DT 3FeBTY, BT YLD FYI DT VERENSD, ToRWIT.
2018 @b 2021 3 IDS, oy MHoFINVT VHRENY FEINT S8TT DFED DT d3es
BPODDITON TIIWD. B IDDOT 2T 8RS BOJ3AD ByAMWod, BYFS, WrePHd
VBTN ISODBT?

A)  ITeRDN DD DT 3Zes BoADES eH&Y Ot svdiaer Jyd,

B) DD DB 3Zes T oD YO F0Be) )R FoaEB TN
C) DIoh DT 3¢, QS Jod

(D) BB PVBREDP) BRI erodrazseﬁ ﬁac?ﬁ! it SeCeamerhdd
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76.

71.

78.

79.

80.

Kerala 1s an ageing society with an increasing proportion of population over 60 years and
with a high life expectancy that is on par with the developed countries. At present, what
1s the dominant setting where geriatric care is provided in Kerala?

(A) Hospitals (B) Households
(C) Old age homes (D) Care homes

There is no income ceiling for reservations for Scheduled Castes (SC) and Tribes (ST) in
education and employment. Why is this considered necessary to achieve inclusive
development?

(A) The social nature of caste discrimination
(B) The economic basis of caste oppression
(C) SC and ST people have low representation in Parliament

(D) Work participation rates of SC and ST is very low

The Sustainable Development Goals (SDGs) of the United Nations (UN) which has 2030
as the target year represents a broader vision of development compared to the
Millennium Development Goals (MDG) which came to an end in 2015. Which of the
following represents the broader vision of the SDGs?

(A) Protect the planet and improve lives

(B) Ending poverty and hunger

(C) Ensure environmental sustainability

(D) Combat HIV AIDS, malaria and other diseases

Which of the following would you associate with women’s empowerment?
(A) Punitive measures for engaging in sex selection
(B) Mobilisation of poor women to achieve livelihood security
(C) Payment of large dowries

(D) Appointment of a woman leader from a major political party as a minister

The Women in Development (WID) approach was the outcome of global advocacy,
research and activism in support of women’s development in the 1970s. Which of the
following do you associate with the WID approach?

(A) Reservations for women in government jobs
(B) Training for women to enter the labour market
(C) Providing cash transfers to women

(D) A critique of development from a gender perspective
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3e0vRy) SIS SSrewmeNd, 60 IE03 BT BIToak,ah LTSI, BodS DR
e BodB BB STSSDIT BN BeATIBOOLRY, TeodT. BRI, BeTYBY B33
€38, 800R), wENRE B@V Bedort aroeyeD?

A) s3Znv B) DLoWNRK

€) ByTBRriww (D) 7,8 DInw

3g6 D) YVERENTY @027, 23N (SC) ) Bordnww (ST) Legeredrt dregyde eswaod
QDS VY. BOINMES eﬁz;’)d@odm& TDIT WD OB eﬁﬁéédod) e lalrrorialnld

(A) 228 SoTBT TooedS FTea

(B) 2503 g 930D 303 35590

(C) SC &) ST 230t FSoTVSIO 38D @YSAF AT

D) SC @) ST RY BUIBY NSRS BORWD o0 BB

ABRoRgadh (UN) Y3 e rodnwd (SDGs), 2015 8O Eemrieod Deedodas Ba0a o
rteeef, (MDG) 1t 8pedITS 2030 o= rddad SBFTONEDBROD, BIBRWD Izo0 B,
BEIDDIT. B BVASYNYE a3 SDG MY 9290 TyAWRY, B3IDVIT:

BA) RESY, 08D DR BeBITY, DFODID

(B) @33 DI) BIT, BARTR IR

(C) BORT WACILRY, WIBBRIZRRNT

D) o0 o, Deeduirn HI) 23T deerny ING BLTIBDI

SYNRINVO BTy, I BDbvs FWOeBTRTEORT Bockeesr@ed?
(A)  ¢,0N3 esad, 008 FeBNZEY L Todead W
(B) 2e30emoah3d BBBAR) TR 2B BHVADTRY, FRrte SHID
©) Geg SVBIHAY 933
D) BRva Twaded BFVOT BhVD TISOVRY, RGN FeDHIT

YD 2 BBuashor (WID) dpessd) 1970 O B33 shbve SR Bowdba
BIN3B IDFFS, FoTGI DR WBEE FOB0BNG. BYAIIATO DB, Vead
WID 5ottt Soadeezd3ed?

(A) zeed emdraéeriﬁeéeg D&HF0HO e d

(B) &Pabdrt sae8 Sredhdel BSednen S0ed

(€) DHYHON Inch SrRFSHFHRY, LB
D) Oon B)3EReDOT BB IRBE
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81. How does becoming a member of a trade union enable workers from poor families to
expand social capital?

(A) By forming new relationships

(B) By learning about labour rights

(C) Through bargaining for higher wages
(D) All of the above

82. The Government of India provides a gender budget statement with the annual state

budget. What does the gender budget statement contain in any specific year?

(A) Achievements on account of government expenditure on women and girls in

the previous three years

(B) Analysis of gender gap in human development in the light of budget

allocations

(C) Budget estimates and actual expenditures towards women and girls

(D) All of the above

83. Why are banks willing to give loans without collateral to women organised in Self Help
Groups (SHG) but not to individual women?

(A) High repayment rates of women
(B) Women organised in SHGs resolves information asymmetry
(C) Government support for women SHGs

(D) Women are known to be risk averse

84. People With Disabilities (PWD) suffer from very low employment levels in India.
According to National Sample Survey (2017-18), only 23 % of PWD over the age of 15
years are employed in India. This is less than half of the employment of all population
for the same age group according to the Periodic Labour Force Survey (2018) data.

Which of the following best explains the low employment levels of PWD?
(A) Lack of appropriate infrastructure
(B) Low access to education
(C) None of the above
D) (A) and (B)
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85.

86.

87.

88.

Which of the following is/are initiatives of NITI Aayog?

@

(i1)
(111)
(v)

E-Amrit

Methanol Economy

Lifestyle for Environment

People’s Plan Campaign

(A) All of the above ((i), (ii), (ii1), (iv))
(B) Only (1), (i1) and (1i1)

(C) Only (1), 11) and (iv)

(D) Only (1), (i11) and (1v)

Which of the following statements about the Haritha Kerala Mission is/are not correct?

@

(i1)
(i)
@iv)

It is one of the four missions under Nava Kerala Mission launched by the
Government of Kerala.

It has four sub missions to deal with water conservation, waste management,
agriculture and climate change.

Pachathuruthu project is a venture of Haritha Keralam Mission to make
wastelands green.

Garbage free New Kerala is an action plan prepared by Haritha Kerala Mission
(A) Only (11) and (i11) (B) Only (11)
(C) Only (111) (D) Only @v)

Which of the following is/are part of the eighteen items of the Twelfth Schedule to be
dealt with by Municipalities?

@

(i)
(iii)
@iv)

Roads and bridges

Urban crime

Registration of births and deaths

Non-conventional energy sources

(A) Only (1) and (11) (B) Only (1), (i1) and (i11)
(C) Only (1) and (111) (D) Only (1), (i11) and @(iv)

With respect to the e-governance initiatives in the state of Kerala, which statement
is/are correct?

(@)
(i1)

(iii)
(v)

E-Sevanam is a single platform to provide all online services by the government of
Kerala through mobile application

K Smart is a data centric solution for LSGIs in Kerala which ensures good
governance

Citizen Online portal provides services related to Grama panchayats
Sanketham is a software for granting building permits by local governments
(A) Only @), (ii), and (ii1)

(B) Only (1), (i1) and (iv)

(C) Only (11), (i11) and (iv)

(D) Only (1), (111) and (iv)
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83 BYNIYINYY adreYcdh NITI esodeena emé@d)mb?
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89.

90.

91.

Which of the following statement is/are correct?

The number of seats of Councillors shall be?

(1)

(i1)
(111)
(iv)

25, where the population of the Municipal Council does not exceed 20000

25 for the first 20000 and one each for every 2500 population exceeding 20000,
subject to a maximum of 50, for a Municipal Council

50, where the population does not exceed four lakhs for a Municipal Corporation

50 for the first four lakhs and one each for every ten thousand exceeding four lakhs
subject to a maximum of 100 Councillors for a Municipal Corporation

(A) Only (1) and (i1)
(B) Only (1) and (iv)
(C) Only (i11) and (iv)
(D) Only (1) and (iv)

Which statement about the Ward Committee is/are correct?

(@)

(i1)
(111)

(iv)

A ward committee is constituted for each ward of the municipality where
population exceeds one lakh.

Councillor of the ward is the Chairman of the Ward Committee.

20 persons are elected from among members of the resident’s association of that
ward, which are registered in the Municipality

20 are nominated from persons representing cultural organisations, voluntary
organisations, educational institutions, industrial and commercial establishments
functioning in that ward

(A) Only (i) and (i1)

(B) Only (i1) and (iii)

(C)  Only (i1i) and (iv)

(D) Only (1), (i1i) and (iv)

Which of the following statement is/are correct?

(@)
(i)
(iii)

(iv)

AMRUT Mission was launched to provide basic civic amenities like water supply,
sewerage, transport and parks.

AMRUT 2.0 was launched in 2022 to develop water secure cities under
Atmanirbhar Bharat.

Mission will upscale universal coverage in water supply from 500 cities to 1000
statutory towns.

It is a centrally sponsored scheme.
(A) Only 1) and (i1)

(B) Only (1), (11) and (iv)

(C) Only (1), (i11) and (iv)

(D) Only (1) and (iv)
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92.

93.

94.

95.

With respect to a District Planning Committee, which of the statement is/are correct?

1 DPC consolidates plans prepared by the Panchayats and Municipalities in a
district and prepares a draft development plan for the district.

(1) District Collector is ex-officio and Secretary of the Committee
(111) Chairman of the DPC is the President of the District Panchayat.

(iv) The District Planning Committee shall prepare an Execution Plan for the district
not later than 12 months from the date of sanction of the Perspective Plan for the
district by the government.

(A) Only (i) and (i)

(B) Only (i), (ii) and (iii)

(C) Only (i), (iii) and (iv)

(D) All of the above ((i), (i), (iii) and (iv))

Choose the most appropriate answer from the options given below :

(A) The focus of e-Governance is on stakeholders outside the government or the
public sector organization

(B) E-Governance involves the use of government machinery to improve
government operations

(C) The relationship between government and citizens is part of the focus of
e-Governance

(D) E-Governance primarily focuses on providing government services online.

web portal launched by the Ministry of Panchayati Raj, Government of
India has the objective to strengthen e-Governance in Panchayati Raj Institutions (PRIs)
across the country by bringing in better transparency in the decentralised planning,
progress reporting and work-based accounting.

(A) e-Taal (B) eGramSahaay
(C) eGramSeva (D) eGramSwaraj

Choose the most appropriate answer from the options :
The Open Network for Digital Commerce (ONDC) is
(A) An application to connect shoppers and retailers for open e-Commerce

(B) A company which launched set of specifications to promote open interchange
between shoppers, technology platforms and retailers

(C) An intermediary to enable interchange between shoppers, banks, technology
platforms and retailers

(D) A software which helps to create an exclusive e-commerce system for
shoppers and retailers
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97.

98.

99.

100.

All the below mentioned options except one are considered as Non-Value-Added
activities while conducting Government Process Re-engineering :

(A) Transportation (B) Redundancy
(C) Inspection (D) Payment

The factors-time, cost, complexity, transparency and citizen experience are factors to be
considered while measuring ————— while considering Government Process
Re-engineering for implementing an e-Governance system.

(A) Service Quality

(B) Reliability

(C) Relationship quality
(D) Engagement quality

The type of Information System that would help in answering the question, “What would
be the impact on rice production in the state if the average rainfall during the South-
West monsoon reduces by 20% this year” is?

(A) Transaction Processing System
(B) Management Information System
(C) Decision Support System

(D) Knowledge Work System

adopts a strategy to search through a collection of rules and formulate
conclusions called the inference engine.

(A) Transaction Processing System
(B) Management Information System
(C) Decision Support System

(D) Expert System

When the overall objectives of a proposed e-Governance system are to provide users with
tools like search engines, forms and documents for download, and email facility for
contacting the concerned department, it is targeting ————— level of the
e-Governance Maturity Model.

(A) Information
(B) Interaction
(C) Transaction

(D) Transformation
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